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1. GRS
LHIE R 100, 000 100, 000
W S B A 0 0
MHIRER = 100, 000 100, 000
2. Z DB AT 4
LHIE R 315, 266 315, 266
WS B AR 0 0
MHIRAR = 315, 266 315, 266
3. FlIAS R x4
(1) Z DTS F A 4
R 2 T s 4
MHIE R A 75 654 A 83,937
S B AE
1 R A 8, 283 A 4 791
MHIRAR = A 83,937 A 88,729
Z DMFREFIR AT
MHIE R A 75 654 A 83,937
W S B AR
Y AR O A 8, 283 A 4, 791
MR A 83,937 A 88,729
BREBEARAF
M 339, 612 331, 328
W S B AR
Y AR O A 8, 283 A 4, 791
MR 331, 328 326, 536
0 3R - R =4S
M 0 0
M S B AR 0 0
MR 0 0
I &% 7 %0 %
YRR 0 0
Y AR B 0 0
S} i ERGA 0 0
G PE DA FE
YRR 339, 612 331, 328
Y AR B
4 AR O A 8 283 A 4, 791
S i ERGA 331, 328 326, 536
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